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Placement Test for  
Primary Mathematics 2A 

 

1.  Fill in the blanks.                                                            [3] 

     

                                                  ________ tens ________ ones 

                                                      = _________ 

 

2.  Write the missing numbers.                                            [4] 

     (a)                                    70 and 2 make _________. 

                   70 + 2 = _________ 

(b)  64 is _________ and 4. 

     (c)  _________ + 6 = 46 

 

3.  Write the numbers.                                                         [3] 

     (a)  twenty-eight               _________ 

     (b)  thirty-five                    _________ 

     (c)  one hundred four       _________ 
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4.  Write the numbers in words.                                           [3] 

     (a)  40       __________________________________ 

 

     (b)  93       __________________________________ 

 

     (c)  112     __________________________________ 

 

5.  Fill in the blanks with <, =, or >.                                      [3] 

     (a)  79        80 

 

     (b)  seventy-four         7 tens 4 ones 

 

     (c)  5 tens 3 ones         4 tens 8 ones 

 

6.  Which number is greater than 50 but less than 70?        [1] 

        48         50 

        63         91 
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7.  Order the numbers from greatest to least.                      [2] 

      

     _________ > _________ > _________ 

          greatest                                  least 

 

8.  Fill in the blanks.                                                              [4] 

         

(a)  What number is 1 more than 89?  _________ 

        (b)  What number is 1 less than 89?  _________ 

    (c)  What number is 10 more than 89?   _________ 

    (d)  What number is 10 less than 89?     _________ 

 

9.  What is the missing number in the pattern?                     [1] 

     70, 68, ?, 64, 62, 60 

        63         65 

        66         67 
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10. How many cents are there?                                           [1] 

             

        100¢         64¢ 

            46¢         10¢ 

 

11.  Fill in the blanks.                                                             [2] 

       13 + 6 = 10 + _________ 

           = _________ 

 

12.  Write the missing number.                                              [1] 

       6 + 7 = 7 + _________ 

 

13.  Add.                                                                                 [5] 

       (a)  43 + 6 = _________  (b)  25 + 7 = _________ 

 

       (c)  31 + 20 = _________ (d)  62 + 15 = _________ 

 

       (e)  54 + 29 = _________ 
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14.  Subtract.                                                                              [6] 

       (a)  37 – 5 = _________  (b)  24 – 8 = _________ 

 

       (c)  50 – 5 = _________  (d)  45 – 20 = _________ 

       

(e)  59 – 16 = _________ (f)  45 – 29 = _________ 

 

15.  Subtract using a related addition fact.                             [2] 

       15 – 7 = ? 

       7 + _________ = 15 

       15 – 7 = _________ 

 

16. Fill in the blanks.                                                          

      Complete the fact family.                                                  [4] 

                                         3 + 6 = 9 

       ________  ________ = ________ 

                                        ________  ________ = ________ 

________  ________ = ________ 
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17. Add.                                                                                  [2] 

      (a)  106 + 591 = _________  

 

 

 

 

(b)  728 + 74 = _________ 

 

 

 

 

 

18.  Subtract.                                                                        [2] 

       (a)  485 – 64 = _________              

 

 

 

(b)  800 – 137 = _________ 
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19.  There are 15 green buttons and 7 red buttons in a bowl.   

       How many buttons are there in the bowl?                        [2] 

 

 

 

 

 

       There are _________ buttons in the bowl. 

 

20.  Ali made 25 paper flowers.  

       He gave 9 of them to his friends. 

       How many paper flowers did he have left?                      [2] 

 

 

 

 

 

       He had _________ paper flowers left. 
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Answer Key 

1. 9, 7 

           9, 7, 97 

2. (a) 72, 72  

           (b) 60 (c)      40 

3. (a) 28 (b) 35 (c) 104 

4.        (a)      forty 

           (b)      ninety-three 

           (c)      one hundred twelve 

5. (a) < (b) = (c) > 

6.        C 

7.        61, 48, 9 

8. (a) 90 (b) 88   

           (c) 99       (d)      79 

9.        C 

10.      B 

11.      9, 19 

12.      6 

13. (a) 49 (b) 32   

           (c) 51       (d) 77  

           (e) 83   

14. (a) 32 (b) 16   

           (c) 45       (d) 25  

           (e) 43       (f)       16 

15.      8, 8 
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16.    

           

           6 + 3 = 9 

           9 – 3 = 6 

           9 – 6 = 3 

17. (a) 697 (b) 802 

18. (a) 421 (b) 663 

19.      15 + 7 = 22 

           22 

20.      25 – 9 = 16 

           16 


